Tel: 01924 229380 www.AndrellEducation.com @ BenBigMaths



Click on an option below to view those challenges. This document also has b
the required section of the document. In Adobe reader the bookmark icon is the second icon down.

ookmarks. Open the bookmark panel in your PDF reader to navigate to

CLIC 1
CLIC 2
CLIC 3
CLIC 4
CLIC 8
CLIC 6
CLIC 7
CLIC 8
CLIC 9
CLIC 10

CLIC 19
CLIC 12
CLIC 13
CLIC 14
CLIC 18
CLIC 16
CLIC 17
CLIC 18
CLIC 19
CLIC Platinum

Tel: 01924 229380

www.AndrellEducation.com

@ BenBigMaths



Note: Multiple copies of this CLIC Challenge are not provided
since all scores arise through teacher assessment.
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since all scores arise through teacher assessment. ( @&U@ a WE@ \
"9 3 @ O How Many? Q\
) ) @9 ® @

11,12, 1%

®  How Many? @

@G) @5}3

(5) Place the numbers in ordeﬁ

Dy R EL e o 4] 18] |2

£ £, =0 B 2 4 8

@ @ 5@ ® Double 2is &)
lO 20, 30 fi \:20\(;%”\ ::g/ﬁ hand

’ (4l

QO 50 ’ aexd 10 altogether

@| — @ @
‘more | less

fhan' 4 is = than’ 6 IS 5
0y ST SEeEz) RVE U BERT TR Jo



Note: Multiple copies of this CLIC Challenge are not provided

since all scores arise through teacher assessment. ( CLEVEN 2 N[KE )
1 q )
0 1} 2} 3} 4",
5 ZOI/
fma 3 7
(RES T ‘
BCCOQC O Hutwf | |® e o,
can count out up
@@@@@Q O 14 to 0 Objects from a pile
CIass: oxe, @
7
© 0,9, 3,7 @ What is 3 moreCP ‘10, 20 3°@
r % ? ’ ’ P
Date: 65,4,3,2,|, than &7 | | ue,50,6¢0,70
2ero” 51250456 _7, s 0 80.90,700°
T —T)
S ©p,_ (P e e
@)
+ @: 5 many are 2
@ @ lef1?
NS

WYIERSIESECOREZ! HRVERRBENTRIH A 10



Note: Multiple copies of this CLIC Challenge are not provided

since all scores arise through teacher assessment.
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Write Uumber
200 () (2) mote thaa : ?zb Count backwards
200 900 buflessthan'20 | |0 15 47 46 45 44

. e.g.14 ’
NamicE

Coound backwards (5) Dowble %0 ic
s 83,82, 8!, 80, 79, 78 60

) = 5+2=7
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Dafes 4+6:=(0 012543567530
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200 (1) (2) Writeanumber Count backwards

'm'ore than' ’8
600 700 but lless than 13 37,36, 35, 34, 33
9 10 11 12
-
Name:
Cound backnards (5) Douwble 20 ig
40
kg 54,53,52,51, 50
(6) (7)
6+2=9
Date: 3“'7:(0
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500 (1) (2) Writeanumber Count backwards

‘more than' 5

but 'l han'
600 900 ut less than 11 08, 27 26, 25 24 23
6 7 8 9 10 >

-
Name::
Count backwards &) Double 40 is
30, 29, 28 80
s 33,32, 3|,
(&) O

2+ =6
Date: 3*2:10
012345673891
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Writ b 3 d

400 () @) ,m?re :h: :“;;‘ er Count backwards

600 800 15""::5:;“:"82:9 56, 55, 54,563, 52, 51
Count backwards B Dougle 10 is
44,43 42,41, 40, 39 20
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(o)

~




€ ¢ L

s )

NS

Writ b 3
100 () (2 ,m?:e :haa :,“;“? er Count backwards
500 800 14""::5:;“:; '198 77.76,7574,73, 72
Coount backwards (5) Double 20 i<
93,92,491, 90, 89, 88 60
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Writ b 3
400 R | mtsamber | 1 Count bockards
700 900 2 o 15 1= | | 67,86 85,84 83 82
14
Coount backwards (5) Dowble 20 i<
73,72, H,70, 69, 68 40
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@ w"iteanumber 3
200 XK Write aun Count backwards

but ‘less than'
300 800 cssthan 10 | )49 68 67,66,65 64
4 5 6 7 8 9

-
Namct
Count backwards &) Double 40 is
s 05, 04, 03,62, 61, 60 80
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Dafies 9+ 1<10
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Writ b

300 (1) (2 ,m""'e :h: :,“;“o er Count backwards

600 800 1 ":; s i e | |59.58,5756,55,54
Coount backwards (5) Douwble 10 is
24,23,22,21 ,20, 19 20
0) (7)
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Writ b 3 d
600 6 (2) ,m'o"re‘;::n‘!'; er Count backwards
700 900 { o a1 anea T | |46us 1443 42 41
15 16
Coount backwards (5) Double 0 ic
84,83,82,81, 80, 79 60
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@) Place inorder
12 11 17 1

16, 18, 20
113 14 17

B Circle the odd numbers
{00, 170,180, 190, 200 4 @@ 14

CIaSs:
@ Wrife the cact Camily Cor: 16 + 3 = 16 + 1 =
. grgzyy 18714
Deties 1486 14.6.8 19 23
® 16-2- 6-7 =
13 J
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@) Place inorder
15 12 18 190

10 12 15 18

6, 8,10,2, H

10, 100,110, 120, 130

(5) Circle the even numbers

| 2%

((6) write tne cact camily cor: 14+ 79 = 1+ 8 =

T7+5: (2 5+7=12

12-7=5 12-5=7 16

® m-2= 12 H-8=
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@) Place inorder
17 15 19

8 10, 1214, 16
14 15 17 19
©) Girce the odd numbers
120, 130, 140,150, 160 6 (A1) 26
lasss
@ Wrife the cact Camily Cor: 12 + 3 = 11 +5 =
_ 9+¢=ts ©619=15
Deate 15-6=9  15-9=6 15 22
® 12.2= 7-5=
’ 9 12
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@) Place inorder

1 8 15 13 6,8 1012, |4
8 11 13 15
&) e the even numbers
0, 25, 50,75, 100 27 %
- Ol
@ Wrife the cact Camily Cor: 11 + 2 = 18 + 6 =
_ s+g:3 8+5=13
et 13-8=5 13.5-8 13 24
® 11-2- 8-6=
’ 9 12
NS

© Andrell Education 2015

(@) Andrell Edlucation Ltd WYIENS;TRSCOREM! HRVERRBENTRTH R




€ @eG | s )

@) Place inorder
12 18 15 1¢

0, 12, 4,16, 18
12 15 16 18
©) Girce the odd numbers
200, 210,220, 230, 240
. 6 @ »
((6) write tne cact camily cor: 15+ 3 = 15 + 8§ =
o 7-3:%y 7-4=3
et 4+3=7  3+4=7 18 23
® 15.32-= 0 - 8=
12 7
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(2) Place inorder 3)
N 8 15 9
8 9 14 15
&) e the even numbers
0, 25,50, #5, 100
(lesss ” "
@ Wrife the cact Camily Cor: ’—]3 + 3 = 19 +5 =
o g-2:¢ 2+6=8
Petis 6+2=8  8-6=2 16
®) 12.2- 9-0=
10 14
I\
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@) Place inorder
15 12 16 1

1 12 15 16

2, 4, 16,18, 20

130,140, 150, 160, 170 g 124 ()

©) Girce the odd numbers

((6) write tne cact camily cor: 16+ 7 = 18 + 8 =
94817
3+9:=(7
17-9=8  17-8=9 18
@ 16 - 2 = 8-8=
14 10
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34_ (2) Place inorder
an 12209715 | (|0 12,14, 16,18
30 4 12 15 17 20
The nesdh number is... ©) Circe the odd numbersg
0, 25, 50, #5, 100 ;
L 9%
- D)
@ Wrife the cact Camily Cor: 1 5 4+ 2 =
- 4+7=11
s T+yz
@@ © 1-7=4 11-4=7 17
) 15.2= 5-6=
13 )
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@ Place inorder
16 9 12 19 810, 12, 4,
9 13 16 19 16,18
Name:
© The nesd number is.. =) Gircle the even numbers
2
. 80,90, 100,100,120 | | 1 @) @) =
((6) write tne cact camily cor: 9+ 3= 17 + 8 =
is-7:=3 /815
Lt 15.8=7 8+7=15 12 25
® 9.32- 7-8=
6 9
N
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@) Place inorder
™ 12 19 12

12 13 14 19 H, 1618 .20

©) Girce the odd numbers

((6) write tne cact camily cor:
stgzy  14-975

14-5=9 9+5=14

{80,190, 200, 210 4 @ %4
15+ 3 = 19+7 =
18 26

() 45.2= -7 =
12 12
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200, 400,500, Dc;ude
600 , 700 3His 68
Double ) Halt of
F0is 140 10 ic 35
lasss
@ Write the £act Camily Cor: 60 + 1O = 73 +10 =
Datc: 30+t40 =70 70 63
40+30=70
70-30=40 | (®80-10= @43 -10=
70 -40=30 70 33
L\
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R
200,300, 400 DOUb‘eg
500, 600 700 121584
Double & Hatf of
©0is 120 20 is
kses 15
@ Wrife the cact Camily Cor: BO + 10 = 65 + 10 =
Dafies 50 + 30 = 30 40 75
80 + 50 = 130
130-50=80 | |{®50-1p = 56 - 10 =
130-80=50 40 46
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500, 600, 700 Double
300, 900 2315 46
Double © Halt of
@ Write the €act Camily Cor: 70 + 10 = 36+10Q =
90 - 20:=70 30 a6
70 +20=90
20+70=90 | |®70-10= @28-10 =
90-70=20 60 18
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R
100, 200, 300 DOlee
400, 500 ,600 s 28
Double & Hatf of
80 is 160 20 is 60
lasss
@ Write the €act Camily Cor: 40+ 10 = H8+10Q =
Defies 70-50:<20 50 58
20+ 50=70
50+20=70 | |®up-10= ) e5-10 =
70-20=50 30 55
L\
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(2) ) \W
400, 500,600 Double
700, 800, 900 s 62
Double ) Hatf of
90 is 180 60 is 80
(lagses
@ Write the €act Camily Cor: 50 + 10 = 27 +10 =
DJatc: 30+ G0 < (Yo 60 37
60 + 80 =140
140-60=80| (& 20-p= @ 72-10 =
140 - 80 =60 20 62
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@y | TEc )
bl +
300, 400, 500, DL%“. ©
600, 700, 800 5 86
Double S f of
70is 140 0 is 45
C1ass;
@ Wrife the cact Camily Cor: 70 + 10 = 8 + 1° -
Datc: 60 +70 = (30
70 + 60 =130 80 94
130-70=60 | |®p0-10= © 87-10 =
130-60 =70 0 17
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R
200, 200, 400, Double
500, 600, 700 2tis 48
Double & Hatf of
©0is 120 40 is 70
lesss
@ Write the £act Camily Cor: 80 + 10 = 76+10 =
Defes 20-40 <30 90 86
120-80=40
40 +80=120| |®80-10= 1) 49-|0 =
80 + 40 = 120 70 39
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N
500, 600,700, Double
800 , 900 525 64
Double ) Hatf of
S0is 100 20 is 90
(6) write fne cact camily cor: 90 + 10 = 62+19Q =
HWO0-30<30 100 72
10 -80 =30
30+80=110 | [@ 70— ® 55-10 =
80+30=110 40 45
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100,200, 300 ?ﬁb -
400, 500 .
Double B of
80 is 160 00 is 50
@ Write the cact £amily Cor: 60 ¥ 10 = 39+10 =
+60:
90 + €O = 50 20 49
60 + 90 = 150
150-90=60 | |{®70-10= @ 9-00=
150 - 60 = 90 60 81
LY LAST SEEREY HOVERRBENTRRH N Yoy



OGN TzEao
R
000, 700 Double
800,900, 1000 cc s 44
Double ® i of
e 90 is 180 0is 45
(6) write fne cact camily cor 20+ 10 = H2+1Q =
Defies Y0 - 50 = 90 20 53
50 + 90 = 140
90+50=140| |®uyo-p= @) 67 -10 =
140 - 90 = 50 30 57
NS
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50, 100, 120,

200 , 250

N\uug is hiding
behind Hie bigg%*l-
Mu“'ip‘@ oF @

CIaSs: without going past 43
() 30+¢o: 90 @30-6- (B48-5=

Deles A 43
IA 74

I
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200, 250, 200,

350 , 400

N\uug is hiding
behind Hie bigg%*l-
maktiple of S

Class: without going past 24

©) 0+30= @50-3-+ (8) 37 -4 =

Deles 40 J A a7 33

I

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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@ ap_5-= ) o757 - 6 =

= N 27 251
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M=
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500, 1000, 1500,

2000. 2500

N\uug is hiding
behind Hie bigg%*l-
Mu“'ip‘@ oF @

Class: without going past 6F
(6) yo+yo- @30-7- @) 56-32=
DATE: 80 & 23 53

I

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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® 5-6= 75- 8 =
= N 45 167
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2000, 2500, 2000,

3500, 4000

N\uug is hiding
behind Hie bigg%*l-
maktiple of S

Class: without going past 36

@ 70 t20¢:

Deles 90 J A 35 23

I

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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5000, 10000,

15000,
20000, 25000

N\uug is hiding
behind Hie bigg%*l-
Mu“'ip‘@ oF @

@D@SSS without going Pa\sl- 54
(6) so+30+ @90 -4 - @ e5-4-=

ates 80 /A\ 86 61

I

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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20000, 35000, 40000,

45000 , 50000

N\uug is hiding
behind Hie bigg%*l-
maktiple of S

without going past 41

(6) 20+30+=

o |}

ufafafaflals]

N.. -
—
[————
—
—

M=

EEE
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@ 0wy, 1

)

1% -+ 2

N\uug is hiding
behind Hie bigg%*l-
Mu“'ip‘@ OF @

without going Fa\s-l- 78

@ O+¢cOo=

0 I

M=

EEE

ufafafaflals]

= (8) 86-5 =

81

N.. -
—
[————
—
—

187

@ 93 - 6 =
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BVZ, 4) 4.%)

S5 , 5%

Mally is hiding
behind Hhe biggest

MuH’iF(Q/ O‘F )
Class: without going past 28

(&) 30+30+ @s50-7 = (8 98 -7 =
Cefe? 60 Ax 43 o1

I

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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450, 500, 550

600 , 650

N\uug is hiding
behind Hie bigg%*l-
Mu“'ip‘@ oF @

Class: without going past 82
® 30+yo= @ 30-6- @) 57-4-=

Datc: 70 /A\ 24 53

I

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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6000,6500,7000

7500, 8000

N\uug is hiding
behind Hie bigg%*l-
maktiple of S

Class: without going past 48
(&) 20+yo+ @90-3- @) uH9-8-=
Dafes 60 /A\ 87 a1

EEE

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10

nnnnnnnnnnnnnnnnnnnnnnnnnnn

® 63-9= @ gop -7 =

— N 54 815
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|

M=
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€ @ge | s
Place in order | |@ Double 49 i R
39 93 54 69 3000+ 8000 = 98
Half of 300 is
39 54 69 93 11000 150
(5)
47 +53= {00 4% x 10 =430 rg
%IO + |O = 81 A\ éf
(032 +2¢:= @ g3-49 - (@) H8 =5 =
56 34 Or3 k
2\ @%\ @
) o) o
(s) 36 Wb
+42 -4p
78 54
LY LEST SeekEz) [IRVE U BERT TR NP



€ @I e )
Place in order | |@ Double 27 s R
43 72 60 4D 6000+7000- 54
43 45 68 72 13000 g
(5)
b —
62+38=00 || 200 =260 0y
@D@SSg 550 - 10 = 53 A é
® y3+s52: @ 85- 58 - {® 2632 =
Delies 95 27 8r2 k
) o) o
© 53 75
t2d - 33
77 » 42
L\
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Qe | s )
Place in order | |(@ Douile 36 i R
58 25 67 24 8000+4000 = 72
Half of 500 i
24 25 58 67 12000 250
(5)
3+6a=f00 || 20X P =380 o
@D@S@S 4’7O + |O = 47 Q é
O 25+¢3: @ 81-65- (OFIYE
Datc: 68 16 72 z
o N &
® 7 87
+ 26 - Ay
97 » 33
NS
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€ @ge | psm
Place in order (2) Double 18 s \
64 44 62 01 9000+ 2000 = 36
44 62 64 81 12000 Half of 64 is
32
5)
00 - 29 = 54 x 10 =540 rg
720 + IO = 72 Q é
©gy+2s5: @ 74 - 47 - (@) 17=2=
89 27 8r1 k
) 45 68
+ 33 - OH
78 43
LY LAST SEokEz] [IRVE U BERT TR NP
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Place in order | |@ Doudle 47 is R
22 71 28 65 5000+4000 - 94
22 28 65 71 9000 g0
()
00 - 46= 54 b1 X 10 = 670 /9«
EIass: %0 + 10 = 38 A é
©) 57432+ @ 96-69 - (@ H1+5 =
Datc: 39 - - z
&) & o
@ 62 49
T -23
87 ‘ 26
S\

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




£ @Eo | e

Place in order | |(@ Double 83 s R
76 58 75 88 8000+7000 - 166
58 75 76 88 15000 3
(5)
83 + 17 = 100 ZZ X 'IO =7:g 0y
s 010 = o
©® 2¢+¢gy= @ 92-56- {® 20+ 32=
Defies 83 36 6o k
2 @%\ @
) o) o
® 23 56
+45 - 34
68 ’ 22
L\
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Place in order | |(@ Douile 68 i R
34 43 53 47 8000+9000 = 136
Half of 700 is
34 42 43 53 17000 350
(5)
'00_57=4_3 :’lg X|(|)O =460 /g«
(lasss + U= 91 o é
®72+2¢= @ 47 - 48 - (@ 19u =
@@@@8 98 19 4 r 3 k
:@: ' o
© 5l 77
+38 -5
89 » 32
I\

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10
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€ @gs | pss
Place in order | |@ Double 76 s R
51 29 50 35 5000+ 6000 - 152
11000 Half of 88 is
29 35 50 51 a4
(5)
S+ 49 = {00 129 x 10 =290 rg
40 - |0 = 84 o é
®ys+yz = @ 84 - 57 - @ 12+2=
6r1 z
87 27
® Lo 85
+ 46 - AP
88 33
IWVIERSISCORERN FEVE U BEOCTERTZY 10,



€ @gs | o
Place in order | |(@ Double 96 s R
74 72 67 2/ 7000+7000 - 192
Half of 300 is
27 67 72 74 14000 150
(5)
wo-7s-25 || 100 | \ Gy
esss s 0= o
) s1+3¢+ @ 93 - 56 - (@ 29+5 =
Datis 87 37 5r4 k
o & o
6, 85 63
+ 2 - DD
97 » 41
AN

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




O ctic 9 EuKTion
Place in order | |@ Double 56 is Bk
65 82 68 80 9000+ 9000 - 112
65 68 82 86 18000 el g f;z s
®)
77+23=100 || o ¢ P =840 o
CIass: 560 « 10 = 56 4 é
@) 35+4y: @ 75-48- (@) 26+M =
Deles
79 27 612 k
@ 3+ I3
+hh - B4
78 ’ 34
AN

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




Wik

~

2
)/
A

- \

cLid 10
(2) Double 39 is
3000+ 8000 = 78
Half of 500 is
11000 250
(5)
% X 10 =830
o0 + 10 = 51
@D 100-23: (8) 38+5 =
72 7r3
(10 /0
-h8
28
WYL SITESCOREA HRV ERRBIE N TRTH T



£ QGO Wzean )

(2) Double 37 is \
5000+ 2000 - 74
Half of 64 is
7000 32
. % X 10 =360
040 - 10 = 64

@00 -37= (8) 29+32 =

63 Or2
(10) 82
+ /8 - 37
124 » 45

S\
e DY LEST SEeED) FEVE | BERTTERT2) 10

nnnnnnnnnnnnnnnnnnnnnnnnnnn




 EYIO | Wzes )

~

(2) Double U6 is
H000+7000 = 02
Half of 300 is
11000 150

B 42 x 10 = 480
Q70 . 10 = 87

@ 100 -ys=: (8) 22 +M =

S8r1
o4
+84. il
122 » 45
NG

@ Andie Ecueaton i WYIENSISCOREA! HRVERRBENTRTH R 10
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Vzs 0% )

~

AN

ANcLici1o
@ Double 28 is
6000+5000 - 56

11000 Half of 86 is
43
(5)
@100 - 31: (@) 19+ 2=
19 Or1
53
~26
27
LY LEST SECREDY .



cLid 10

s )

~

2
)/
A

- \

(2) Double 88 is
9000+ 9000 - 116
18000 Half of 900 is
450
(5)
51 X 10 =370
0%0 + 10 = 68
@ 100-54-= (8 yz+5=
46 8r3
9
- 0D
26
WYIER'SIIESCORER! HRVERRBE N Tl H T2



cLid 10

WiToh

~

2
)/
A

- \

(2) Double 87 is
8000+4000 - 174
Half of 68 is
12000 34
@ 45 X I0 = 450
770 < 10 = 77
@ 100-23: (&) 16+3 =
77 5r1
4O
- 28
17
WVIENS;TRSCORETA LEWE U BEe vhibirey




S ciic 10 QW7

(2) Double 76 is \
7000+ 37000 - 152
Half of 700 is
10000 350
(5)
% X 10 =960
940 - I0 = 94

@D00-17: (8) 39 ¢4 =

83 Or3
84
+75 -59.
131 ’ 25

S\
e DY LEST SEeED) FEVE | BERTTERT2) 10

nnnnnnnnnnnnnnnnnnnnnnnnnnn
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2
)/
A

- \

£ QEEOT Wzes )
(2) Double 96 is \
5000+ 6000 - 192
Half of 64 is
11000 32
® 29 X 10 =390
520 + 10 = 32
@ 100-33: (&) 22+5 =
4r 2
/2
+ 68 -3/
146 35
LY LEST SeekEz) [EVE U BERT TR NP



0 ciic 1o WK

@ Double 59 is \
9000+32000 - 118
12000 Half of 300 is
150
(s)
4 X 10 =410
270 «+ 10 = 27

@ 100-7¢y = (8 21+ =

26 Sr1
63
+9. 5.
135 | 18

S\
e DY LEST SEeED) FEVE | BERTTERT2) 10

nnnnnnnnnnnnnnnnnnnnnnnnnnn




0 ciic 1o fWiKiioh

@)
40005000 -

9000

Double 85 is \
170

Half of 900 is
450

=)

50 X 10 =560
%40 -+ 10 = 84

(8) 253 =
S8r1

2
)/
A

- \

H
38

56




ANcLick11

Wik

2
)/
A

- \

~

(@) Doubic 400 is Write your coin
12,16, ZO, 24,28 800 card for.. X 2
x 21
; 21
42
Double 900 is 30 x50 = 5 oo
210
woo || 1500 e
100 2100
(6)  Molly is niding 493 + )5 = 526 + 19 =
behind the biggest
mulfiple o€ | ¢ 448 575
without 90ing past A 2
igf igf
&y
+ 30
478
DY LOST SCORED) FEUE U BEATTERTE) Jo_
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A
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Gk s )
Doubl i \
16, 20,24, 28, @) Deutic 200 i Write vour coin
600 card Tor.. x ?|
3 2} 36 x 31
; 31
62
Double 700 is 20 x 40 = 1% 155
310
1400 800 gg ot
100 3100
(6)  Molly is niding 534 + 67 = 45 + 27 =
behind the biggest
mulfiple o€ 3 382
without 90ing past 596 o A
qo igf igf
2R O T
S +
39 é
389
By LOST SEDES) [ENE U BERTTHRTEY Jo_
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Gk | s )
(2) Double 200 is " | \
312 16. 2024 rite Jour coin
1€, 1Y, £ 400 card for.. x 42
28, 32 x U2
; 42
84
Double 600 s 7030 = 5 |20
420
1200 2100 2|
100 4200
(6) Mully is hiding 751+ 36 = H83+52 =
behind the biggest
multiple o€ |5 287 535
without 90ing past o A
Gg igf igf
2 AR NG 628
65 [N TH3 pioal
578 574
By LOST SEDES) [ENE U BERTTHRTEY Jo_



Wik

2
)/
A

- \

i
(2) Doublc 100 is .
Write vyour coin
720, 24,28, Y
200 card for. x 32
37 36 x 32
; 32
Double 800 is 80 x 20 = 5 160
320
1600 1600 52;8 f::o
100 3200
(6)  Mully is widing 612 + b4 - 274 + 65 =
behind the biggest
mul{iple o¢ (IO 339
without 90ing past 666 A &
igf igf
® 257 733
+ 32 - §
289 652
WYIENS;TIES O RE! HRVERRBE N Tl H T2

~




€ @E ] | e )
(2) Double H@Qis . | \
1620 74 Write your coin
e, T 800 card for.. x 24
28 ) 3 2 x 24
; 24
48
Double 500 is 90 x 30 = 5 |
1000 2700 |
(esss 100 | 2400
(6)  Molly is iding 165 + 23 = (8)567 + M8 =
behind the biggest
Peaties mulfiple of [ 2 188 615
without 90ing past S a
zq i@f i@f
e 1@ a3
Q
: 28 gl
687
NS
g DY LOST SCORED) FEUE U BEATTERTE) Jo_
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L 11 EWKI
(2) Double 200 s | | \
12 Write vour coin
4,8,12, 16, 600 card Tor.. x %6
20, 24 X 36
; 36
72
Double 600 is 40 x 30 = 5 |
360
1200 1200 2| =
100 3600
(6]  Mully is niding 7726+ 37 = 785 + 87-=
behind the biggest
multiple o€ |4 758 872
withovt 9oing past & &
qq igf igi
1 7
a8 §° ol
779
DY LRST SEomEY [EVE U BERTTERTY Jo_



© Andrell Education 2015

2
)/
A

- \

Raising Standards in Education

€ @E | Ty )
(2) Dounlc200 , \
. Write your coin
8 ,12,1620 s card %r... X I3
24,70 400 X 18
; 18
Double 900 is 30 x 40 = > 2%
180
1800 2000 50 | so0
100 | 1800
(6]  Mully is niding 861+ 2/ = 394 + 329 =
behind the biggest
mulfiple o€ 3 888 433
withovt 9oing past & &
Sg ig? igi
e ® g3
Q
36 _@
299
DY LEST SEES) FEVE | BERT TERTE) Jo_
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Sciic11 K
(2) Double 100 is | | R
12 16,20, 24, V\;rrotlefgour c%w
’ 2 card Tor.. X 2b
28, 32, 36 00 2
; 26
52
Double 500 s 60 x 20 = 5 | o
260
1000 1200 52;8 520
100 2600
(6)  Molly is niding 398 + 6] = 678+ 75 =
behind the biggest
molfiple ok |5 389 753
without 90ing past A &
6' igf igf
@ yay 242
60 (G + 53 - 87
487 155
DY LEST SEES) FEVE | BERT TERTE) Jo_



ANcLick11

WK

2
)/
A

- \

1216 20, 24 @) DoukicHoois Write your coin
4 / / / 800 Card -FOY X 4’4‘
28, 32, 36 x 4y
; 44
88
Double 800 is 70x 50 = 15(’) 220
1600 3500 20 | 80
50 2200
100 4400
(6)  Mully is widing 514 + 74 = 6T + 9N =
behind the biggest
multiple o¢ |[O
without going past 588 & 61 A
igf igi
®  gp 526
+ U3 - 09
658 457
WVIENS IS CORE! HRVERIBE IR H N2

~




€ @uE i | o
(2) Double 200 s . \
20,24 28,32, Wrrotle]cgour coin
/ 600 car or.. X_é%
36, 40 X 38
; 38
Double 900 is 80 x 30 = % 190
]
(esss 10% 1398%(:)
(6)  Mully is widing 481+ 18+ 559 +78 =
DN behind the biggest
@CE@O MUH‘iPlQ oc|Y 499 637
without 90ing past S a
57 :'ér :@:
e 1® 3p5
Q
\ 56 T2
397
L\
g 0y ST SEeEz) RVE U BERT TR Jo




G
@ Place in order
Al R 33
131 311 331
-
NamC:
Nr%-l-kwﬂ\al-{-‘mﬂgf\w @ 45 + %15 =
e 30 x 4 = 120
120+-30=4 53-:—4.:
Defies
120 -+ 4 =30 13r1
© 35
X D
175
NS
WYILNSITESECORE CEVE U BERT TR0




cuic 12 [
@ Place in order
204 BH3 2HH
245 254 543
Name:
Nrik,-l-k@ﬁ\d_f.\mﬂgﬁ , @ 516 + 1% =
S5x40=200 757
lees 40 x 5 = 200 S
200+-40=5 37+ 3=
Deles
200 =-5=40 12r1 _
:@z
© 64
X 4
256
NG

© Andrell Education 2015




Sciic 12 BNRERR

@ place in order
o2/ /2 276
276 627 672
Wik e fack Fami fo ) 642 + 25 =
3 x50 =150 895 320
Class: 50 x 3 = 150 Z a)
150 +3=50 | (@D 68-5- 927
: +3282
Pete 150 +50=3 13r3 -
2 1319
© 8y
X_ 3
252
L\

© Andrell Education 2015




G
@) Place in order
539 395 359
359 395 539
Namcs
et Pk g for | | ) 20 + 462 =
e 80 - 40 =2 S 7
2x40=80 | |@D 29-2- HT8
Datc 14 1 t861
40 x 2 = 80 _
igi
© 78 .
X
- 555
’ 156
N
@ste, LYLGSTSENE) R — B




€ @d e | Wrzes

@ Place in order
468 846 Y86
468 486 846

Nril-o,-l-kmﬁ\a(.{-‘mﬂgﬁ , @ 104 + 185 =
Class 3x70=210 3

70x3=210 | |@ 69-4-

Date:
= 210+70=3 71
o
© 57
X_O
285
NS

@ oo LY LAST SEelEY HAVERRBENIRHRRA 10

nnnnnnnnnnnnnnnnnnnnnnnnnnn




G
@ Place in order
/43 Y73 U3/
437 473 743
Name:
N'h"'b“bﬂ\v"f‘milg for @ 44) + %50 =
8 x40 =320 798
lees 40 x 8 = 320 2
320+-40=8 58+ 3=
Deles
320+ 8=40 19r1 _
1%2
© 74
X4
296
L\
WYIENSIES COREL




Sciic 72 fWin

@) Place in order
390 309 903
309 390 903
Nanves
rite Hhe foch Pl or B 5338 + 241 =
9 x 500 = 4500 279
€Class: 500 x 9 = 4500
4500 + 9 = 500 71+ 5=
Datc:
4500 + 500 = 9 1411
© 66
X_ 3
198
N
@ AA;drerl ?ducamnfzmstd mv &ﬁgr‘:ﬁ g@@@@@g W
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G
@) Place in order
68l 86l 86
681 816 861
Namcs
Nril-e-l—kmﬂ\,,.(.{.‘mﬂg Lor @ 099 + 15 =
270 - 30=9 778
@D@SSS 270 + 9 - 30 @
30 x 9=270 53 - 4 -
Defies
9 x 30 =270 13r1 _
:@z
© q7
X 2
194
L\
CETEE RVIENSIISEOR A HRUERRB K H !




€ e | rzo

. @ Place in order
N 574 754 547
0.4 547 574 754
th'l'kbﬁ\al-f-‘milg for @ 15 + 162 =
7 x 300 = 200 887 156
CI3SS: 300 x 7 = 2100 o) 2)
2100+300=7 | |@ 50+ 3+ TH 8
Datc:
2100 + 7 = 300 16r2
® 86
X D
430
N
@ AA:ddrerl ?ducamnszSLfd mv &ﬁgr‘:ﬁ g@@@@@g W
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O duic 12) fWKTioh

@ Place in order
435 HH3 DH3
435 453 543
Nrﬂ-vl—kmﬂ\al-f-‘mi[gfw @ 4’]7 + 551 =
e . ~ _
Cess 3200 + 800 = 4 2 Z
4x800=3200| |@ 86+5-+ 325
Datc:
800 x 4 = 3200 17711
© 93
X_ Y
372
I\

@ ool coton 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




@G e Tz )
4-89 (2) Place inorder \
VAR ERN 32 2143 2431 | | 3545 5163 72
0.8 0.09| | 2143 2431 3142

1250, 1500, 750,
2000, 2250

=)

38l

HRVERRBENTRIH A

8]
) %




2) Place inorder
H625 526 H256

4256 4625 5246

€ @HE e | s
\
8, 24, 30, 36, 42

500, 750 ,1000, | [ 370
CIass: {250, 1500 e A 4

6x7-= 42
8x20= 240

2 152

77

&

M)

HRVERRBENTRIH A



o

€ @@ 8 | s
5.78 (@) Place inorder \
VAN 5381 81355138 0| 28,35, 42 , 49
5 o2 0.08|[5138 5381 8135
(5)

0, 2500, 5000

, 7500, 10000

24
CH

77

&

M)

HRVERRBENTRIH A




o

€ @H¢ e | Wz
0-3b (2) Place inorder \
AR ERN 2374 T2 P27 | | g 27 36 U5 AU
6 03 005| 2374 3427 3472
5000, 7500,10000, | |® [
12500 ,15000 s 17500 | | &5 A

T7x9= 63
60x320 = 1800

15

O

77

/0

HRVERRBE TR H AT




€ @Gk | Wzes )
B-1/ (2) Place inorder \
yau AN 6409 609 HI6O | | 1) oo 11y 45 A
0.07 | [4960 6094 6409

8 01

2750, 3000, 3250

(<

&

HR\ERRBENTETH R



€ @@ 8 | Tz

o

0.4

2) Place inorder
3785 2587 5738

3587 3785 5738

42,4956,63, /0

6000, 6250 , 6500,
6750, #000

550

8§x9 = 72
60 x 8¢9 = 4800

(<

&

HR\ERRBENTETH R

~




€ @HE e | Wy

06 0.04

2) Place inorder
7613 7216 6721

6731 7316 7613

45, d4, 63, 72,81

2500, 5000 , 7900,

{0000, 12500

=)

|

82

80

~

HR\ERRBENTETH R



€ @@ e | e

95 g (2) Place inorder

AR 7865 5876 5768
o o5 002||5768 5876 7865

36, 42,48, 54, 60

(500, {750, 2000 ,
2250 , 2500

6x9= 54
70x800 = 56000




dLic 13

W[KEX,

o

3 0.6 0.07

2) Place inorder
8:91 8194 84419

8194 8419 8491

35,42,49,56, 63

{5000, 17500

7500, 10000, {2500,

=)

E;

————%

1050

800

900 1000

—
1100

8xal= 32

600 x700 = 420000

29

3

(<

&

-

HRVERRBENTRIH A

~




EEE Oz do )

2

(2) Place inorder
5378 57832 5387 63,72, 8,

5378 5387 5783

750, 1000, 1250 , - 96
@t (500, (750 T

Tx6= 42
800x200 = 240000

17

J

?!g'

68
FENTE U BERTTERTES L
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€ @@t | g
Place in order | |@ FO.O R
A6 64 44 N 27
4.4 4.6 6.4 | |+2I[4>][475 > R
0.0 + 0.8 = )
1.4 H’M"F O'F 45 is 22.5
(6) 48 =10 = (7) 486 + 735- (B8 x79 =
4.8 1221 632
(o) 5686 85
+ 749 X 6
6435 510
LY LOST SEORES CENE U BERT TR Jo



L 1) R \a\“
Place in order | |@ FO.0
37 33 /3 g 225
12|14 16 |08 | |
3.3 3.7 73 | 00 200
0.7+ 0.4 = =)
11 ‘H'al-f: O-F 12 is 11.5
(llasss
(6) 76 <10 = (@) 268 + 574= B)ée x 5i =
Pate 7.6 842 324
o ?gy
©) 4837 73
+ 68 X U
4905 292
L\
@) tocoizoecoion ia ) WYIENSITRS CORE! HRNVERRBE TR H DAY 10
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€ @@t | s
Place in order | |@ FO.O R
572 bbb 25 g 525
2.5 52 5.5 20(125][30]|3.5 , | : JH :
05+03= (s)
0.8 Halt of 67 is 33.5
® 94 = 10 = @) 395 + 467~ @7 x 632 =
9.4 862 441
6, 6478 68
+ 2% X 7.
6774 476
YIS S CORER! [EVE | BERT TR NP



€ @@ | psm

Place in order | |@ FO.O R
83 78 0/ i 43
28 87 8.8||32/34138s]|38] | ]
0.4 + 006 = ©)
1 Halt of %9 is 44.5
(llasss
(6) 3510 = (7) 574 + B372= (8 9x 8 =
@@Cf@ 3.5 1406 432
1@? ig
(o) 3208 OH
+ 8 x 8
3353 432
N
Gimem DYLAST SCORER) [ENE U BELT TERS) Jo_




Place in order | |@ FO.0
64 46 600 N 575
46 6.4 6.6| |26 Jle2sj[6o] | o
0.7+ 0.7 = ©)
Halt of 25 is 175
s 1.4
(6) 63 =10 = (@) 7432 + 695° (8 8x37 =
Defies 6.3 1438 296
) 2879 L7
+ 65 X _q
3344 ‘ 423
L\

(@ fooslccion 16 WYIERSIESECOREZ! HRVERRBENTRIH A 10




@ WG )
Place in order | |@ FO.0 R
723 32 27 g 975
2.2 2.3 3.2||LedlesI[Z]l7a)) | T
08 +04= ©)
17 Halt of 7% is 36.5
CIass:
@ 135+10= | (@ 867+ 546- ® 6x85 =
bt 13.5 1413 510
© 8567 83
+ 638 X 7
3 9205 ~ 581
L

(@ fooslccion 16 WYIERSIESECOREZ! HRVERRBENTRIH A 10
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2
)/
A

- \

€ @@ | sy
Place in order | |@ FO.0 R
98 88 089 Ny 61
8.8 89 9.8| [L/IZ2][74][76] |,
0.6 +0.#= )
1.3 Halt of 57 is 28.5
(6) 240 +10 = @ 9386 + 357~ @ 9x58 =
24.6 1343 522
©) 594 96
+ %7 x 4
6161 384
LY LOST SEORES CENE U BERT TR Jo
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€ @Hg et rEe
Place in order | |@ FO.0 R
56 65 bb v 485
5.5 5.6 6.5| (8217l ]2} | I
049+09= )
Half of 79 ic 39.5
1.8
(&) 367 +10= @678 + 724= @7 x92 =
36.7 1402 644
© 4586 75
+ 78 x 6
5304 450
LY LOST SEORES CENE U BERT TR Jo
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€ @@ o
Place in order | |@ FO.O R
74 47 77 T 275
a7 7.4 77 ||4slleomesl|O) |, T
05+ 08 = )
13 Half of 55 is 27.5
(6) 528+10= @ 593 + 635* @B 8xe7-=
52.8 1231 536
) 6836 57
+ 386 X _8
7222 456
YIS S CORER! [EVE | BERT TR NP
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S cic 14 fWTion
Place in order | |@ FO.0 R
88 68 00 > 89
6.8 8.6 8.8 30| 3251350375 |, ]
08 + 0.6 = )
1.4 Hatf of 97 is 48.5
(&) 654 +10= @ 859 + 386- @6 x9N =
65.4 1245 _ 564 ]
© 7569 Ay
+ 6/3 X 9
8242 576
LY LEST SCakiEs) [EUE U BERT TR NP



@B g )

~

@ Place in order | |& Moly s iding
491 241 221 | Hafef3seis boind e bigst
multiple ot
- 2.21 2.414.21 178 withovt qoing past
NQmC _
4 vite down ACTOYS
yehAlel 476 - 34 =
(lesss
Pate
NS




€ @698 | rsa

~

@ Place in order | |@& . Mully is hiding
573 537 753 Half of 5128 is behind $he bigg;sf
muliple ot
5.375.73 7.53 219 withovt 9oing past
-
m o

Wame Write Ao:Fn‘g fackors 631 - P55 —

lesss

DAt

NS




S cuic 15 Wz

AN

| (2)
D P00 | Dt or crus
3.84 4.38 4.83 337
Wik doun & facors 54% - T2 -
2 6 8
12 4 3 471 %

Mully is hiding
behind the biggest
multiple o€ |5
without going past

~

723




AN

NcLic1s

WKL

M Place in order
651 561 615

5.61 6.15 6.51

2)
Half of 532 is

266

Write down 6 factors
of 40:

4 5 20
10 8 2

(5) 28 - ¢ -

@53'5-?:
7r4

Mully is hiding
behind the biqgest
multiple o€ |6
withovt 9oing past

~




AN

S cuic 15 W=l
298 7283 302 atto 1 eh':f the bigges
tiple o€ (7]
2.83 3.28 3.82 198 withoot going past
NVH“?/ At;:f\b nga\ul-ors 645 _ 57 _
6 12 30 588
1m0 5 2
@ 58 < b =
Or4
2
igi
® 746
X _©
4476




ciic 15 fWicIoan
@ Place in order | |@ Mully is hiding \
397 879 98/ Half of 784 is benind the bigg;lsf
J4iple o¢
p 8.79 8.97 9.87 392 wi.:‘,:oijgoing past
maM@o Write a\::g Z.‘Fa\ul-ors T4 - R =
7 2 1B g8
lasss 8 28 4
@ 75 + q= 2340
Defies 8r3 - 13
~ 2467
igi
® I 454
4334 AH086
NS
LY CRST SEREe) Jo_




B ey

A

@ Place in order | |@

158 BAG 485 Half of 558 is
4.58 4.855.48 279

Write down 5 factors 591 - 26 =

of 04:

~

Mully is hiding
behind the biggest
multiple oc| 9
without 9oing past




€ @698 | e
@ Place in order | |& . Mully is hiding \
736 6/3 63/ Half of 372 is behind the biggest
6.376.73 7.36 186 e
- . o . withov{ 9oing past
m@@@" Write a\:{v;l\? g{’a\ul-ors 9440 - Rp =
9 18 2 854
Class: 8 4 36
® 60+7= 5261
@@6@8 8 r 4 - 2684
@ 2577
© X36g 996
3303 716762
NS
LY LOST SEORET 10




€ @698 | iz
@ Place in order | |@& . Mully is hiding \
587 578 857 Half of 956 is behind $he bigf
vltiple o€
578 5.87 8.57 478 withoot going past
-
m@m@O Write a\:{v:;\ogfawl-ors 426 - 59 =
2 5 25 367
€IS 50 20 4
@ 4’5 - b =
Defies 7¢3
G a8y
X _©
4104
N
LY LRST SECRTY 10,




ScLic 15 fWiction
@ Place in order | | Mully is hiding \
612 622 621 || MafefTodis berind fre bigget
multiple o¢
B 612 6.21 6.22 397 withovt 9oing past
Name: "
vite down © factors
6 oun 6 fnch 657 - 4% =
16 12
Gl 589
DATC:
NS




€ @ie 96 | e

008 + 007 - 2) oo ag B
6510 =
045 4-8:52=1¢ 38- 10 = 1.38
4 x 0% = &) Muly is hiding berind the B
bi%esfc multiple o% bwithout | o 4‘
e 2.8 going past (457 438 7>\7
®)oy+o03= 08+ 09 - H12M . 75 -
Defies 0.7 1.7 4059
- e oy
G o3 - g = 89
X106
ors 1360
AN

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




e e W

006 * 009 - (2)
015 2.76 +6.24= 19
%, 1% 08 = (s) Mu"g is hiding behind the F 5\,%
biggest multiple o% T without | .
O B
s 4.8 going past |570 364 7>\7
(B)os+oy- @ 06+07 = (8) 2625 - ¢M =
Datc: 0.9 1.3 3561
& & oy
3 cord 1%%%
L

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




dric1e IR

003 + 005 - (2) B
- 97 x10= 97
0.08 0-54 + 0.46= 1 547 =10 =5.47
34 00= (5) MU\" is hiding behind the ML)
blgges,t mquple o% 5]without | o )
s 1.8 goung past [46% 465 7>\7
(6)oc+0.2+ 08+ 05 - 1921-58 =
@@G@S 0.8 1.3 _ 1863
:@z :éf :@
\ orz 12222
: )
NS

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10
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2
)/
A

- \

007 + 006 - (2) N .
= x 10 =
013 10-3.7 = 6.3 824 -0 =8.24
5x09= (8 Muly is hding berind the
biggest multiple o% 8 [without
4.5 going past|595 592
(oz+0s: 07 +09 -+ 5262-H7 =
0.8 1.6 5315
\gl
® 325 -8 = 46
40r 5 —
r
1288
MWYIENSIESCORE CEVE U BERY TLRY Y




€ @e 96 | =

~
00 008" = 361 x [0 = 361
012 10-821=179 783 = 10 =7.83
Bx 07 = ) Mully is hiding behind the — F %,
5.6 biggest multiple o%ﬂ without | o 4‘
. oiNg past (400 7}:7
Cass: 3ong 296
(6Jo7+02+ 08+06 - 6180 - 23 -
Dafe? 0.9 14 || 6157
@ UH8 — 9= 70
& ors 22%%
e

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10
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2
)/
A

- \

009 + 003 - (2)
_ 452 x 10 =452
0.12 1-055= @5 564 = 0 = 5.64
Q< 0-4 = ) l\/\ullg is hiding behind the P )
biggest multiple o% blwithout | o ,‘
3.6 going past |80 378 7>\7
()oy+os-= 09 + 03 - 2512- 26 -
0.9 1.2 2477
e & o
X4 7
90r 3 ——
~ 3055
nY LOET SEoREE) RVE U BERTTRTE Jo




€ @ie 96 | ey

008 + 005 - 2)
013 56-8 +43.2= 199
F x 00 = ) Mully is hiding behind the 1Y
biggest muftiple o% Tlwithout | o “
e 4.2 going past |5083 504 7>\7
(6) o.s+0.2+ 08 + 04 = (8) T35 - 88 =
D 1.2 7347
0.7 _ _
?.@} & (o
) 285 -7 = 83
XD ©
X 4015 - 4648
AN

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




€ @ie 96 | rze

007 + 009 - (2) B
1 O/ xI0=74
016 00-34.4=15.6 189 — 10 =04189
0x09= ) Muly is hding berind the D)
5.4 biggest multiple o%?w’rthout | .
@eges ' g pastlebl - 672 7*7
Bo3+0y= @ 05+07 - (8) 7648 -59 =
Waties 0.7 1.2 3589
& o (o
() 724 - 8= 58
X6 4
] 3712
NS

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




@96 | Wz

006 + 008 * (2)
_ 0382 x 10 =3.82
0.14 1° - 4-19 "'5.81 074 — 0 —0.074
5x0%= (5 Muly is hiding behind the )
biggest multiple o%ﬂ without | o ‘
going past [150 7>\7
€IS 3.5 747
(6Joz+oy-= 08+ 08 = () H252-78 =
Wetres 0.6 1.6 4175
?.@} & (o
() 632 - 9= q%
X2
h 70r 2 5508
gf
L

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




diic 16 EWKTioh

009 * 009 - 2) I B
O X 10 =2615
0-26=1-064| |0u35 -
018 0.0435
Qx 09 = ) Mully is hiding behind the 1Y
blgges.t muHuple o% blwithout | o "
s 81 going past|50% 498 7>\7
(6) oc+03* 09+ 09 - 6512-43 =
Dats 0.9 1.8 6469
& & )
X/ 9
) 80r2 .
0 ) 3792
AN

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




€ @9 7/

Wik

2
)/
A

- \

@y x 009 = Muly s hiding
2.8 x 100 =280 0.36 behind the biggest
_ . ltiple of |14
143 = 100 0143 wihout gong pes
[0%)
C/irde/H\b@ (5) 49 + 24 =
$%AYQ/ NuMowYr's
8.5
25) 24
(6) ye3 - 139 <
274
© 485
X\
7760

~




W2

2
)/
A

- \

~

€ @9 7/
(23 x 007 = Muly s hid
46 x 100 =460 behinc;J TyheS bigggsT
757 = 100 = 0.21 multiple of |18
‘ 0.257 without going past
380
C;:,d:%;s B 67 + 34 =
15
(6) 53y - 273 < gg; 683224
256 +563 12507
= 1365 55817
2)
® 263 13r4
4734 7190
WYIENSIESCOREZ! HRVERIRBIENTRTH N2




€ e/ | Wz )

@6 x 004 = Muly is hiding &
352 x 100 =352 0.24 behind the biggest
| _ . ole of [2]
46 - 100 =0.046 wi?ggggo?ng SasT
° it ® s + 47 -
5% L NuMbY'S
@) 1 13
lasss 20 (100
(6)32¢ -1c7= 28
326 - 167 £¢ 8
Wetles 159 +687
& 1327
&)
© 516
X 24
12384
NS
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2
)/
A

- \

€ @9 7/
781 x 100 =781 0.56 behinc;J Tyh;S bilgggsT
39 = 100 =0.039 * multiple of |32
' without going past
Circle Hhe
SquAre nambers
%
20 (100
(6) 743 -332 <
366 _
© 8772
X 37/
32264
WYIENS;TIES O RE! HRVERRBE N Tl H T2

~




€ e/ | s )

~

@) 9 x 005 = Mully is hid
026 x 100 = 26 0.45 behinc;J Tyh;S bilgggsT
B -1. . fiple of [26
154 - 100 =1.54 wri?huo:ﬁeggng past
Circle the B s + 47 =
$%AYQ/V\M AORY'S
24 @ 13
Clas’s: 48 (04
(6)331- 437+
Peaties 394
© 683
X 4h
30735
NS

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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S cLic 17 fWicicln
\
@) 8 x 004 = Mully is hid
075x 100 = 75 0.32 behinc;J Tyh;S bilgggsT
- - . lile of 116
626 - 100 =6.28 wi?wgﬁgo?ng past
840
Ciircle Hhe ) 96 + 5% =
s 03 15.4
(6) c23 - 235 - 234
DATE: 393 + 623
1499
&)
© |7
X D3
48601
NG
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2
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A

- \

€ Q@R ey )
~
@5 x 007 = Mully is hiding
0064 x 100 =6.4 0.35 behind the biggest
| _ . liile of [
05 = 100 = 0005 withoul Gong pas!
90
C/ird:%@ )47 + 75 =
(16) 52 12.2
)
(6)yg2 - 149 = i%%)g; 563747
-22869
333 + 12384
& 9022 32478
)
Q9 478 7513
—— 71528
30592
nY LOET SEoREE) RVE U BERTTRTE Jo



e 17 Rwiclelh

@6X0.08——- Mully is hidi \
y Is hiding
0092 x 100 = 9.2 behind the biggest

08 = 100 = o.008 0.48 multiple of [/

without going past
890

Civele Hhe ™) 64 + 9% =

SquAre Numbers
\J
[ Y

8 2 16.2
ases

(6)s¢7-213 =

@@6@8 349

) 78
5

—_———

X
4401

(o))

AN
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O ceid 17 ROl

2
)/
A

- \

(@) 9x 009 = Muly is hiding
007 x 100 = 7 0.81 behind the biggest
| _ y il of [2H
6532 - 100 ~es32 wibout gong pes
Civcle the ()25 + 68 =
$%AYQ/ Nn S
20
7 15.3
(6) 775 - ¢33 = 28142
536
337 + 672]
© 839
X 7D
62925
WYIENSTHSCOREA

~
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2
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A

” \

€ @9 7/
(@) 8 x 008 = Muly s hiding
0009 x 100 =0.9 behind the biggest
1845 = 100 = 0.64 mulfiple of [38
| 1.845 without going past
Civcle Hhe B) a4 + 88 =
$%AYQ/V\ MORY'S
2 (1o
2l
(6) 353 - 77+
676 + 243
A 4940
&)
© 698
X 87
60726
WVIENSIIESCOREZ!
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S ciic 13 Rl
- @ Roundtothe |

@ /4/3 ﬁf?\ e 0% |
2,567,328

4 0.3 0.08 0.009 2,567,000 ) 2ls)

-75

p
Namc

97 Theawis @4.51 « 1000 = 4310
s 7 4 %43 + 1000 = 04348

P Circle the 2.89 + .47 = @us5-17-=
rime Numbers
6.31 _ 2.8 _
:@: ;'é
® 273-5-= 81686
+ 66049
21 148235 ~

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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€ @ | e
- @ Round tothe | |

@ /2/6 1\5\ ot EL .
84, 657

2 0.6 0.01 0.005 84,700 &O

-100

1 Teaei @ 00 - 1300
o 8 7 462 + 1000 =1.468

Circle the 463+ 174 = 6.3-4.8 =
Prime Numbers
6.37 _ 1.5 _
:@: :'é
(9) 208~ 1= 2L482|
+ | 2793
22 47614 -/

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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O ctig 18 Wi
H36,59:4

5 0.4 0.03 0.007 440,000 » 50

-4 — The gap is )

-50

0715 x 1000 = 750
s 91 3 82 + 1000 = 0482

circle he .75 + 483 = 3H-15 =
Prime Numbers
7.58 1.9
(9 480-16= La3U9
+ 20467
30 _ 66816 -

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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S cevci 18 RWicn
@ 6572 | (B Rmnre] [@ {00
// \\ H8HT6MHI3 )
6 0.5 0070002 | 48 000,000/ |50
-2 — The gap is (5

-150

004 X 1000 = 40
(@sgss -6— 4 L 1000 = 0.012

circle the 596 + 2.78 = (8)7.2-4.6 =
Prime Numbers
874 _|| 26 _
:@: :-'g;
(® 3%-B= 7384
+20183
22 82567 ~

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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@ Wizs
6 3740 (2) Round to the = \
// \ \ nearest 10,000
8,219,564 )
3 0.7 0.04 0.008 8,320,000 | |00 00
D7) Thegwis 0006 X 1000 = 6
8 5 58 + 1000 = 0.0058
circle the 658 + 187/ = 8.6-2.9-=
Prime Numbers
8.45 _ 4.7 _
:@: :'é
) 12ug - 24 = 63875
+ 21476
52 85351 ~
[EWE U BERT THRTEY 10




D cec18) fwie @\“
@ /8' : 63\ et a5 G
/ \ 36493 # _
8 0.2 0.06 0.003 36,000 -200[-225||-250|| 275 ||-300
= The gapis = 057 X 1000 =65700
9 4 09 + 1000 =0.0009
circle the 467+ 784 = 5.1-13 =
Prime Numbers
12.51 _ 3.7 _
:@: :'é
(8) 800-32= 82647
+43185
25 125832~
[EWE U BERT THRTEY 10




€ @IS | Wy
Ro o the ~
W /7/19\4— \ @ nea':";:: 1t0h0
61,287 )
7 0.1 0.09 0.004 61 4,300 350 150
U Thegeis | | 14 X 1000 = 24000
-7 — 3 589 + 1000 = 0.00385
circle the 874 + 569 - 9.7-4.8 =
Prime Numbers
14.43 ~ 4.9 ~
:@: ‘.é
(9) 1872-26= ~N3p8U
+ 19586
52 73270 ~
[ENE U BELT TERS) Jo_




O ceid 78 RWikcIen
@ Round fo the | ///

@ / 1/95\6\ carest 100,000 ;
72,503,185

1 0.9 0.05 0.006 73,500,000 )_425 i

-029
27 Thegapis %24 X 1000 = 138400
- sl 3 7+ 1000 = 0.007

circle he 3.85 + 867 = 6.5 - 2.7 =
Prime Numbers
1252 || 38 _
@: :'g;
(8 570- 1= 78306
+ 20497/
30 104803 ~

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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€ @I | e

@ 9361 (2) Round to the

// \ nearest 1,000,000
g9 0.8 o.oe>oo1 5?383’})66‘0 é_575 _

-6/5

-3 Thegwpis | |© 571 x 1000 = 3700
6 95300 + 1000 =95.8

circle he /68 * 635 = 7-2-15=
Prime Numbers
14.03 _ 5.8 _
:@: ;'é
(® 2730 - 26 - 93678
+ 28475
105 122153 ~

@ Andie Ecueaton i WYIENSISCOREA! GG U BERY Tlirzd 10
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O dLic 18 fuk: a%
- /6'745\ e raco G
/| 7o 565
6 0.7 0.04 0.005 785,000 sl s
A Theawis | 1B 00 000~ 910
6— 5 006 + 1000 = 0.00006

circle fhe
Prime Numbers

939 + 486 -

14.25 _
:@:

(®) qu-up=
22 _

394'396=

4.8

00837/
+ /8598

144335 ~!

(R U BERTIRTEY 10




Place in order
1444 171 16
1444 16 1M

50-375=
1.85 .
Glases
(6)438+06= 8689 + 654 = 8-625-4-8=
Deties 73 15.229 3.825

&
® 524 305.5

X 20
136.24 2216721

AN
@remnie, WY LESTSEORES) HRVRBENEHE A 10




Place in order
383 23206 382

3.286 3.8 3.82

84 -584 =
o 2.56 - 15.72

Qs

(6)276+ 4 = 3475 + 586 - 3463 -17=
Dafres 6.9 9335 || 1763

® 352

Y 53.5
i 161.92 61856

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




Place in order

261 2604 27

2.604 2.61 2.7

78-252=

5.28

Bl 5 23.4

(6)385+5= 4928+ 1263 - 5.718- 2.84-
Dafes 77 17.558 || 2.878

(o) 0lD

‘37 47.2
u 227.55 51708

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




Place in order
4057 47 457
4.057 4.57 4.7
03F7-40-=
1.77 .
s
(6)525+7-= 737 + 8956 - H.346 - 1.56=
Date 7.5 16.326 _|| 2786
(o) . gl.67 63.5
L
@ At WYIENSIISCORER! HNUEARBENTRNH T 10,




Place in order
63 613 6381

618 6.3 6.381
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451-18 =
2.71 12.95
(0672 +8= 9536 + 4.8 - 124 - 6.83=
3.4 14.416 6.57
? X 5718L+ 37.25
104.88 241894
WYIERSIESECOREZ! HRVERRBENTRIH A




Place in order
536 56 5876
56 5.86 5.876
532-37=
1.62
dees
(6) 594 - 6= 136+ 574 - 42.3-7.56=
Datc: 9.9 34.74
@ W 14.75
151.45 21472
AN
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Place in order
7463 734 70
7.34 7463 7.6
37 -1.045 = |
2.055 30.52
Gl
() 756 +9= 12468+ 98 - 64 -2.176=
Defies 8.4 22.268 3.224
© o 142.25
X °
290,04 4816828
L\

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




Place in order
95 9516 952
05 9.516 9.52
54 - 3784 = |
Ll 28.44
CIaSs: 2
(6)392+7= 12468 + 98 - 64 -32.176=
Dages 5.6 22.268 3.224
® 507
e oo
385.32
L

(@ fooslccion 6 WYIERSIESECOREZ! HRVERRBENTRIH A 10




Place in order
807 8162 08l
8.07 81 8162
825 - 2378 =
5.872 .
(Leses 2
(B)404 - 8= 185 + 8069 + 154 - 18.1- 6.788-
Dl 5.8 25.319 11.352
(o)
MRS 286.25
NG
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Place in order
2465 34 34D

3.4 3.45 3.465

7.68 - 3540 =
4134 _ . _

(lasss

(6) ol.2 +9= 273681%1r g 75° 25.2.7.65H=
et 6.8 287.468 | | 17646

() ; 9_65

X _—
578.55 061268
NS
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S ctici2o

Wik

Class:

(2) Five sixths add
seven ninths

1 s

Explain why 36%
S less than 3/8

3/8 equals 37.5% which
is greater than 36%

Convert 5/8 indo

A porcentage

62.5%

8 Increase £22 by 151

£36.80

~

@ Wﬁ‘fe dovun a D@OY@aSﬁ 72m | A recipe forfG people
ties fraction befuween by 35/ R
l/S and ‘/z 46 8 would be neec:ed for10
Pecople-
%0 75 I8 ) 1250m!
\_
@ . ElIhere s a 30% sale A boy Divide 180
e a0 B paid £140 for a camera in the sale What , . i
‘lEU was the original price of Ths (S::ri)era?a N fhe rafio 3‘—} o
_ Reletesy . .
PLATINUM. F £200 45 :60:75
@ QQ@‘!&ALEQE%’JA&D Lid my &ﬁgf %@@@@Q mﬁm U %ﬁ fmﬁf@g W




cLic 2o

W2

~

D 10+% -

15

@ Elcven fwelfhs
take away three cights

13/,

H8Kg

Find 35% of

16.8kg

() Inorease Seom by 15/
(3% of 48
lesss 6.24 70cm
(&) writedowna Decrease £8/ iudes s gt o
craC‘HOV\ be‘fween by 10/ how many grams would be
@@6@8 ‘y 1 needed for 8 people?
“and 75 £78.30
% 313 4 ’ 7209
\_ . ‘ .
(8) Thereisa25% dscount in a Divide £91 in the rafio 124
e ’ sale A girl paid £30 for a pair of jeans
%C@ N the sale What was the orgind price £13:£26 : £52
ia'w Meitgel f The jeans? ' '
PLATINUM O Tekawr 240
\_
@ LY LAST SEREZD [EVE U BERTTRT? 10,




ctici2ol RWiczIn

Class:

Deles

@24 x % -

15

@)

seven sixfeenths
add three twelfths

11/16

Find 3% of
LM

5.85ml|

C/o/\VM‘F 0.55 "'o A
percentage

55%

In

crease £950 bg b/
£53

@ How wovld you change
any €raction {0 an equivalent
perCen{age?
Divide numerator by

denominator and multiply by
100

Decrease 450m
by 57

427.5m

5 miles is approximately
equal to 8km what would 2
miles be approximately the

same as?

4.8km

PLATIN

ChATE g e

@ There is a 10% discount in a sale
Mark pays £4350 for a new TV in the
sale. What was the oringinal price of the T\/?

£500

If the rafio of boys to grris
in a class is 31, coud there be exactly
30 chidren in the class? Why?

No. There are 4 parts in the ratio

and 4 is not a factor of 30.

WYIENSIESCOREZ!
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HR ERRBETRTH !

—
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S cLici2o

Wik

CIass:

(2) Work out:
1%+ 2%

4 70

27% of 63m

17.01m

Change eight ninths into
a decimal Fo o decimal
places

0.89

5 Inerease T2kg by 25/

97.2kg

@ Which is Closest fo 14?
0.3 or 0.4¢ explain why

Decrease £98
by just 17

Mary pays £68 for 3

mobile phone in 3 sale
that originally cost £80- What

~

@@6@8 percentage discount did
0.3. 0.3 is 0.033 from % she get?
while 0.4 is 0.066 away £97'02 20%
- in a friangle are In
(9 ke prices are increased by The angles in a Iriange & ¢
The 7 0% Al now pays £880 for a ficket, what e rafio 657 Find out the sizes O
c @U C@ would he have paid before the increase? fhe three angles
C-ha“e"sesf £8 600 : 500 : 700
PLATINUM i
\
@ QQ@‘!&ALEQE%’JA&D Lid my &ﬁgf g@@@@@g m@m U %ﬁ fmﬁf@g .ZO
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Class:

Deles

PLATINUM.

@ Andrell Education Ltd
ssssssssssssssss in Education

\_

dLic 2o
12 =3/ = @) Y6 add %5 Ann says thal
2 L48% of £56 is £3248 Explain
take away % why she must be wrong
20 50% would be £28 so
%0
48% can’t be higher

Write seven

twelths as a percentage.

Give gour Answer fo one
ecimal place.

0.6

(5 Inerease 6%em by 51

71.4cm

(6) Starfingwith

What is a quick way

The height of a

one fenth = 0. = (0%, of decreasing any number ";::tmh,a:s'::,:::f::::,z o
What ofher eqivalences by 577 0-8m. What is the percentage
€an you work ovf? Divide by 10 and increase inheight?
e.g. one fifth = 0.2 = 20% then half that 15%
The value of Ann’s car decreases Some money is shared

by 25% when compared with what she paid
for it 2 years ago It is now worth £3600
What dd she pay for the car?

£4,800

between John and Ann in the rafio 35 John
gels £24, how much does Ann receive?

£40

WYIENSIESCOREZ!

HR ERRBETRTH !

~

10



S ctici2o

Wil

Deles

ChATE g e

LATIN

Andrell Education Ltd

nnnnnnnnnnnnnnnnnnnnnnnnnnn

\_

What is
32x %7

28

(2) Explain why

5+ Y does not
equal 2/5

%, alone is greater than %

Work out 98% of £40
s there a quick way?
£39.20. Find 1% (divide

by 100) then take away 2
lots of that.

Put Hhese
in ovder: 0474, %, 0.F, %
starting with the smallest

% 64% % 0.7

&) Increase 83Kg by 557

136.4kg

(6)

Write down 3 percentage

befween %5 and 0.43

41%

Decrease 90

by 257
87.3

Imranscores H5

out of 60 inhis maths test. The

following week he scores 54 out
of 6@- What is the percentage

increase befween the fwo fests?

20%

(8)

For one day only prices
are reduced by 5% Paul buys a digital radio for £38
What is the cost of the radio before this reduction?

£40

£54 is shared between
Steven and Al so that Ali gets twice as much
as Steven How much does All get?

£36

WYIENSIESCOREZ!

HR ERRBETRTH !

~
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S ctici2o
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Class:

What s %
of 14-om?

8.75

@ Eight ninths
take away five sixths

V18

How could you work out

24% of a quantity?

Divide by 10 then
divide by 4

0.7

Which is
closest o %7 0.6 or
H‘oN do gou kﬂow?

0.7. % is 0.666

(s) Increase 500ml b\j 0.5/

502.5ml|

(6) Write down a
deCimal between

Decrease 300m|
by 707

.ﬂ Jenny pours out

150ml of milk from a jug leaving

~

@@ 6@ o 8'::'“1:.“3' orig,:nal amount ?f
%5 and 30% 240ml was originly intha pagp
0.31 750ml
_ . _ ' —
@ My weight has increased The ratio of boys fo girls in a class
C@ om 80Kgiggrj:si;gi.n\/ﬁ;ﬂlisegﬁ?percemage s 2:3 What fraction of the class
> | are boys?
5% %, Y
PLATINUM B 5
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How many times does

%4 divide into 127

16

(2) What is
MY 1747

2 %

Is 30% of 42 the same as
42% of 30? Explain
your answer

Part of a fact family.

Yes. They are inverse sums.

It 3/5 of X is £40,
what is 5 of X7

1.5

8 find 1057 of 420m

441m

(&)  would you
preter fo have
Ysorh?

1

2

Jake says that to decrease any
number by 207 you just muttiply
by 08 Is he right?
Explain your answer.
Yes. Multiplying by 0.8 gives
80% of a number.

1 cut 7@cm off

. alength of ribbon so

that the ribbon is now 65~ of
its original length. What was the
original length of the ribbon?

200cm / 2m

(8)

40%

Jane buys a laptop computer
for £400 and then sells it two years later for
£240 What is her percentage loss?

Divide £14200 in the

ratio 123

£700 : £1400 : £2100
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What is %5 | | e oot o

find a percentage of any number.

O ‘F 19K 97 adding and subtracting fractions. Which are 6asy? \which are harder?
' The denominator must
11 2/ be the same to add and Times by the decimal value
> subtract fractions of the percentage.

5 What is 2007 of T&ml?
156ml

"F %6 O‘Fg is £25, what
is % of lj?
£15

@ wha‘f cYaC"'iWI lies Deorease 4‘3'(9 The number of

pupils in my school has increased

o lﬂalc'way befween (o X¥] by "‘/4 over the last 2 years from 600
@a@@o and yg%? to 620 What is the percenfage

Class:

A bookshop offers a 15% discount if you buy more than two Potiing compost is made from loam, peaT and sand
Big books Tim buys 4 books and makes a saving of £3 How n the rafio 732 A gardener used 13 lifres of peaf fo

c C@ T o The books Pave cost Tim wahoul hs dscount? make compost How much loam did she use?
-hu gy .
PLATINUM £20 3.5 litres
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I a survey of 40 @ ,
2 - John says that if you increase
Ta Ke 4 /3 something by 10% and then by

puplls, % lke basketbal, s lice football
another 10% it is the same as increasing It

and the rest like swimming How many 1
liked swimming? f"cm 5 /2 by 20% ls he correct? Explain your thinking

9 5/ No. After the first 10% the
6 number is 110% of the total.

Another 10% makes 121%.

B Increase 15 by I
75.75

It 78 oft nis 63,
what is 3% of A7
54

esss

@ If | increase :’\shophkggpgr
L ] reduces his pri
@aﬁ@g Wha‘f cYaC‘f‘lon lleS halc*h)ay N by 30 / \ get 52 by 107 B week Iater:\:::crear'es
betiueen 3 i them by 10+ Are the pric
f n 3% and 0,75¢ What s V\? now back fo their origi:al‘;riecsg?
Explain your thinking.
9/I 6 40 No. 10% off gives 90%. Adding 10%
back gives 99%
\_
e Aol @ 'Cheryl sells her old bicycle for A sum of money is shered
£45 making a loss of 70% on what she originally between Sue and David so that Sue gefs 50%

‘EU C@ paid for it What was the original cost of the bicycle? more than David What is the ratfio of David's share
_ ellemeest £ 1 5 0 fo Sue’s share?
PLATINUM B 2:3
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